THESE K A e
GENERAL NOTES: CORNER CONSTRUCTION: E/DE{A NBT B e o T sy || e
s . ANY OTHER PRODUCT NOR MAY [IPLOT: DATE:
1., THESE CURTAIN WALL SYSTEMS HAVE BEEN TESTED, ANALYZED & APPROVED FOR DESIGN ONE—PIECE VERTICAL AND HORIZONTAL FRAMING AND : THEY BE USED FOR RATIONAL AND/OR LOCAL APPROVAL || 1=t8 | "03/10/13
PRESSURES NOT TO EXCEED THOSE SHOWN IN THE "ALLOWABLE DESIGN PRESSURE TABLE(S). O R T s o FoR SN AT MEVBERS e SrUARE O STATED N THESE DAwNGS. - o T M PACTURER
2. OPENINGS, BUCKING & BUCKING FASTENERS MUST BE PROPERLY DESIGNED & INSTALLED TO | iy ouh ' , wl-
R TS THE STRUCTURE. , BUTTED AND MECHANICALLY FASTENED TO THE VERTICAL MEMBERS VIA A SHEAR - S
3 AL MARDWARE & FASTENERS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS & SHALL NoT ~ BLOCK (ITEM #9). THE SHEAR BLOCK IS MECHANICALLY FASTENED TO THE —
VARY UNLESS SPECIFICALLY MENTIONED ON THE DRAWINGS. SPECIFIED ANCHOR EMBED TO BASE VERTICAL FRAME MEMBER WITH 4 NO. 12 X 7/16" PHTF SCREWS. THE HORIZONTAL -~ ANCHOR LEGEND
MATERIAL SHALL BE BEYOND WALL FINISH OR STUCCO. FRAME MEMBERS ARE ATTACHED TO-THE SHEAR BLOCK WITH 2 NO. 12 X 1 1/2" ANCHOR “ANCHOR
4. THE DETAILS & SPECIFICATIONS SHOWN HEREIN REPRESENT THE PRODUCTS TESTED & FHTF SCREWS. CORNERS ARE SEALED WITH DOW 795 SILICONE SEALANT. - : :
PROPOSED FOR WATER, AIR, IMPACT, CYCLIC & UNIFORM STATIC AR PRESSURE TESTING IN TWO—PIECE VERTICAL AND HORIZONTAL FRAMING AND INTERMEDIATES: VERTICAL SYMBOL DESCRIPTION 8
CONFORMANGE WITH ASTM £330, E285, E331, E18E6 & E1996 FOR LARGE WISSILE WPAST MEMBERS RUN THROUGH WHILE THE HORIZONTAL MEMBERS ARE SQUARE CUT, - _F_[STANDARD WIND LOAD ANCHOR " | |Iz
5. THESE CURTAN WALL SYSTEMS HAVE BEEN DESIGNED IN ACCORDANCE WITH AND MEET THE BUTTED AND MECHANICALLY FASTENED TO THE VERTICAL MEMBERS VIA A SHEAR "~ B [STANDARD T—ANCHOR g
REQUIREMENTS OF THE INTERNATIONAL BUILDING CODE (IBC). . BLOCK (ITEM #9). THE SHEAR BLOCK IS MECHANICALLY FASTENED TO THE & [DOOR JAMB U—ANCHOR z
6. IMPACT SHUTTERS ARE NOT REQUIRED WITH THIS CURTAIN WALL-SYSTEM. : , VERTICAL FRAME -MEMBER WITH 4 NO. 12 X 7/16” PHTF SCREWS & . THE : : T 7
7. AL ANCHORS SECURING CURTAN WALL FRAVE TO PRESSURE TREATED BUCKS OR WOOD HORIZONTAL FRAME MEMBERS ARE ATTACHED TO THE SHEAR BLOCK WITH 2 FH & A [F-ANCHOR (FRAME MEMBER ENDS)| |2
FRAMING SHALL BE CAPABLE OF RESISTING CORROSION CAUSED BY THE PRESSURE TREATING : » - —
A i RE , glLIIDCHONNEO‘SéAZ\LAXNT1 1/2" FHTF SCREWS. CORNERS ARE SEALED WITH DOW 795 - |SEE SHEETS 4—6 FOR DETAILS OF .
B. DETERMINE THE POSITIVE & NEGATIVE DESIGN LOADS TO USE WHEN REFERENCING THESE ' ANCHORS . =
DOCUMENTS IN ACCORDANCE WITH THE GOVERNING CODE:AND GOVERNING WIND VELOCITY. FOR y , _ . _
WIND LOAD CALCULATIONS IN ACCORDANGE WITH THE INTERNATIONAL BUILDING CODE, A e : - | GLASS D.L.O. s .. . S
oL EAChDR or 0 5.65 Y BE. APRLIED PER THE ASGE=7 STANDARD. . ASS DL, Sl VS PR R | o o T o o oo 2E2
9. NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE CERTIFICATION OF THIS PRODUCT. GLASS | MAXIMUM | MAXIMUM | ALLOWABLE | | VERSION CONSIDERED WITH THIS EVALUATION WAS THAT IN FORCE AT THE TIME OF eg=t
WIND LOAD DURATION FACTOR CD = 1.6 WAS USED FOR WOOD SCREW ANALYSIS ONLY. o OPTIONS: | D.L.O. D.LO. DESIGN THE EVALUATION. IN THE EVENT OF CODE VERSION. CHANGES/UPDATES OR IN THE Z°7 8
10. MATERIALS, INCLUDING BUT NOT LIMITED TO STEEL SCREWS, THAT COME INTO-CONTACT WITH N WoTH | HEGHT | PRESSURE | | EVENT THAT NEW OR ADDIONAL TESTING IS COMPLETED ON THIS PRODUCT, PRIOR To| || = | & 83 <
OTHER DISSIMILAR MATERIALS SHALL BE SEPARATED OR COATED AS REQUIRED TO AVOID CORROSION - = I E b S oD O, T AR L O T e cmrenr | || = | BECZ
OF EITHER MATERIAL. S 58 1/27 193 1/27|+/-90 PSF | | wTh ALL CURRENT TESTING, CODES AND APPLICABLE STANDARDS. Jd] gy
11. THERE SHALL BE NO LIMIT TO THE NUMBER OF HORIZONTAL & VERTICAL PANELS USED FOR 1,2 3 573/ 92 3/7 5 wESD ]
ANY JOB PROVIDING ALL RESTRICTIONS ARE MET PER THE ELEVATIONS. | : ea 7 12 /4| +/~90 PSF -4 | HB&R
12, TO THE BEST OF OUR KNOWLEDGE, THE CURTAN WALL SYSTEMS SHOWN HEREIN ARE QUALITY 73 3/4" | 54 5/8"| +/-90 PSF AEND
ASSURED BY AN APPROVED. CERTIFICATION/QA ENTITY & SHALL BE LABELED IN ACCORDANCE WITH TRV s ggg =)
APPLICABLE STANDARDS. THESE DRAWINGS SHOW ALL APPLICABLE ELEVATION, COMBINATION, - _ ‘ 1/2" |93 1/2"|+/-85 PSF z 2
INSTALLATION & COMPARATIVE ANALYSIS CONDITIONS AS DETERMINED THROUGH TESTING & | . 4 &5 |57 3/4"[94 3/4°]+/-65 PSF = E
ENGINEERING RATIONAL ANALYSIS. CURTAIN WALL ASSEMBLY SHALL BE IN ACCORDANCE WITH THESE : _ _ &[5
DRAWINGS, THE MANUFACTURER'S QUALITY ASSURANCE SPECIFICATIONS & TESTING REPORTS. . _ 73 3/4" | 54 5/8"|+/-65 PSF ol B
13. CERTIFICATION OF THESE CURTAIN WALL SYSTEMS SHALL BE CONSIDERED VOID IF THEY ARE - | 58 1/2” |93 1/2°|+/-110 PSF _Is
INSTALLED WITHOUT A BUILDING PERMIT FROM THE APPLICABLE LOCAL BUILDING DEPARTMENT OR IF ) et it _ =
THEY ARE INSTALLED BY ANYONE OTHER THAN A LICENSED CONTRACTOR EXPERIENCED WITH 8 57, 3/4" | 94 3/4”[+/-110 PSF =l =
CURTAIN WALL INSTALLATIONS. . 75 3/4 | 54 58" |1/-110 P57 5 5
ANCHOR REQUIREMENTS TABLE , SEE GLAZING DEJAILS FOR GLASS OPTIONS 1 eT
(SINGLE SPAN REINFORCED & NON—REINFORCED CURTAIN WALL) HEIGHT & WIDTH=MAY NOT BE INTERCHANGED! 3 gt 2
= @ c
OPENING TYPE FRAME/CLIP TO OPENING MINIMUM|  MINIMUM ; - | BQE"y
(SUBSTRATE) FASTENER TYPE EMBED | EDGE DIST. o | B3 2e
" ()] Euy
_ F—PERIMETER ANCHOR SCREWS o B §§$
MIN. 16 GA. 50 KSI METAL STUD| _ 1/4—14 GR. 5 SELF TAP/DRILL SCREW FULL | 1/2 | B =53
MIN. 2X6 WOOD FRAME OR 1/4” DIA. GR. 5 COARSE THREAD R . c | YU 8sy
BUCK (MIN. GR. 2 & 0=0.55) SCREW / / > £%ea8
MIN. 1/8” THK A36 STEEL | 1/4—14 OR 20 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2" Lo |, "2 K3
MIN. 3000 PSI CONCRETE (1) 3/8" CONCRETE SCREW ANCHOR 21/2" | 21/2" , : - = — g;'g =
"~ AN =
T F & U-ANCHOR SCREWS/BOLTS (VERTICAL MEMBER ENDS) | ST e [5x2
' 3/8'—16 430 SS HCMS OR GR. 5 CS THREAD | r; 3/4" o I - Sttty |8 8
" 'FORMING SCREW ‘ v AL % FNNOM
- Q' : o5 .
3/8" GR. 5 CS OR 410 SS BOLT WITH LOCK ; £ e ety uj
WASHER & NUT FULL 3/4 ;LL:@,T 1815 9 o %
VIN. 1/4" THK A36 STEEL 1/4—14 OR 20 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2" yisk ,g}»% iS5 Z iz § 2 o
' 1/4" GR. 5 CS OR 410 SS BOLT WITH LOCK | ¢y 12" ' e izl T 9:92 s £
WASHER & NUT ) : : _ N il e |k 52
5/16-24 GR. 5 SELF TAP/DRIL SCREW | FULL 5/8" ' 68 e Tles | =2 L
5/16” GR. 5 CS OR 410 SS BOLT WITH LOCK | ryip 5/8" . | | SRR o o = oy
| WASHER & NUT . ST EN
(2) MIN. 3000 PS| CONCRETE (1) 1/2” CONCRETE SCREW ANCHOR 3 1/4" |SEE DETALS '
(1) 1/2" CONCRETE SCREWS SHALL BE SIMPSON STRONG-TIE TITAN HD SCREW ANCHOR (GALVANIZED 17947 |
STEEL). ) SHEET NO
(2) MINIMUM CONCRETE SLAB' THICKNESS FOR PLACEMENT OF "T”, "F" & "U” ANCHORS IS 6 3/4”. T 4o




. DRAWN BY: CHECKED BY:
B . FOR MAX. FOR MAX. FOR MAX. -l
D.L.0., SEE D.L.O., SEE D.L.O., SEE " ) I LT
— 0.0, SIZE —|=— D.L.0." SIZE —f=— D.L.O. SIZE —{{=—— 73M ix/ S | S R | |
TABLE ON - TABLE ON - - TABLE ON : A ALLOWABLE DESIGN PRESSURE | - "
SHEET 1 ) SHEET 1 SHEET 1 (SINGLE SPAN S
2.1/2" --—'— 21/2" —— 21/2" == (G5 2 V2 - 4 '- - . NON—REINFORCED » 5
| G "JA_\“ ‘ A TMAXélbﬁ JAMB F—-PERIMITER | __ CURTAIN WALL) |
HE) - b /EB = EE /BN ANCHOR SCREWS o MAXIMUM [ MAXIMUM| ~ ALLOWABLE 8
K I » I 4 L I 4 7 )1k~ WHERE SHOWN. SEE : A MULLION LOAD PRESSURE &
| |[FOR END ANCHOR ||| /F1 i 2B "ANCHOR. REQUREMENTS ~ SPAN WIDTH | (POS & NEG 2
JAMB R REQ ME _ ‘ @
o — DETAILS, SEE Y, | 7 » I (1Y) (IN.) PSF)
FRAME I Al l TABLE” ON THIS SHEET , . z
MEMBER It SHEETS & 5 & By (y | FOR REQUIREMENTS. .- . 76 1/4 81.0 2
B 4 l NV Al 10 4 | Z2 e g o o ' ' 72 ' 85.8 2
oZ = ‘ ' ‘ ' . .203 ' |68 5/8 90.0 -
E 2 %’5 o % t b I, 4 b4 JAMB L MAX ' 62/ 99.6 2
% m%&oxbposne | ! IATE | 56 1160
I < - .l INTERMEDIATE || A S . '
wEZs @D > Sub : S TRAME | I | o |78 1/4 85.6 2ES
82 —Jnd 4 MEMBER s TYPICAL AT ALL — o 58
I BN\ 0| | l =" HORIZONTAL ~ >8R
ET2m : © / : . He—F | 9 : 192 68 5/8 95.2 2. 8
25 \_/ 238 | I_ ) VA, MEMBER ENDS - _ / : ~] Fu.
> b = _ ' — : ] =
SEyY | ot : O\ , /DN | —ADD 1 EXTRA SS o = 88 ¢
ARG b ARz 29 \NO/[1Y \&/ [ SINGL 11N »  ANCHOR WHEN : S| CERD
N Z = W | 18”. : 76 1/4 90.0 r500
ow—=Z Il s > H DOUBLE DOOR l DOUBLE DOOR - LS
N T @) REINFORCEMENT = Vi y : | MAX. 0.C - Hoxi~
= \ |- =% & ; Ik APROM: — | 'qi (TP} REQUIRED WiTH 68 5/8 100.0 - 288
_ == — (=]
Y Il /oppasire | %kg | N ;9[ Ik SINGLE DOORS) , 62 110.0 g Hg
' : NOTES: : . £
| | | ;—\;1 | I 52 I I ' 1. SEE ELEVATION FOR DIMENSIONING OF LOAD WIDTH. 5k
I ! l| N Ik : 2. PRESSURES SHOWN ARE SPECIFIC TO EACH o IE
| A2 S I Yy / : INDIVIDUAL MULLION SUPPORT AREA. ALLOWABLE 3
% || 7 Y 7L _ AL ) PRESSURE MAY VARY FROM BAY TO BAY AS DICTATED — IS
Jajay 1 ik _ |BY EACH INDIVIDUAL MULLION CONDITION. = —
== - : " |3, LESSER OF PRESSURES STATED IN THIS TABLE & ] =)
B 4 ") 4 4} THE ALLOWABLE GLASS PRESSURE, AS SHOWN ON > ®
\&) : MAX SHEET 1, SHALL CONTROL AS ALLOWABLE FOR THE L1 82
1/2 - 1/2 : WALL ASSEMBLY. ol o-
LOAD |— LOAD WIDTH ——— LOAD WIDTH —=t—— LOAD WIDTH —— LOAD 4, AT SPAN OF 180" & LESS, LOAD WIDTH CONTROLS o Zu’_ ©
WDTH |- THE ALLOWABLE PRESSURE. THEREFORE, IT SHALL S| 2+ %
WIDTH - NOT BE ASSUMED THAT INTERPRETATION OF PRESSURE © | Mg =3
VALUES CAN BE DONE WITH SPANS UNDER 180" -l z=zg &
MEMBER D.L.O. D.LO. - D.L.O. DOOR MEMBER INTERPRETATION OF PRESSURE VALUES BETWEEN o | @ 2=
CENTERLINE - CENTERLINE CENTERLINE CENTERLINE CENTERLINE CENTERLINE THOSE SHOWN MAY APPLY. b Z9 Egy
EXTERIOR ELEVATION; : F EP_‘, SE%
SINGLE—~SPAN REINFORCED CURTAIN WALL ol k< g;":’
SCALE: 1/4” = 1'=0" S %0- -2
- Hne F="
NOTES_APPLICABLE TO SINGLE—SPAN REINFORCED 46 o g 3
CURTAIN WALLS = — 5351
1. REINFORCEMENT SHALL RUN CONTINUOUS IN INTERMEDIATE VERTICAL o 523
MEMBERS & EXTEND TO WITHIN 17 1/2" OF THE ENDS. . : 1332
2, THERE IS NO LIMIT TO THE NUMBER OF SECTIONS HORIZONTALLY ‘ 5 |5 8
PROVIDING THE OPENING IS DESIGNED TO SUPPORT THE LOADS . B
TRANSFERED FROM THE WALL SYSTEM. JECC -
3. THE SINGLE—SPAN ELEVATION SHOWN SHOWS ONE DOOR SECTION. : _ N L
MULTIPLE DOOR SECTIONS MAY OCCUR SIDE-BY SIDE IN ONE WALL - Sy R m iy &
SYSTEM PROVIDING ALL REQUIREMENTS WITHIN THIS DRAWING ARE MET : o e Y, _ B
& PROPER LOAD WIDTH (DISTANCE BETWEEN DOOR CENTERS) IS A g Oh (18 B
CONSIDERED WHEN DETERMINING ALLOWABLE DESIGN PRESSURE. k _ L iy < o Lh |IE A b2
4, ALTHOUGH A DOOR SECTION IS SHOWN AT A SIDE JAMB, THAT - _ 21 5L Qi (1S 3
SECTION MAY EXIST WITH OR WITHOUT A DOOR & THE DOOR MAY . , M {g&.ﬂ P60 e & Pg
EXIST IN_ANY BAY. : £ ﬂ; 1Y zZ:i<h & L \ed
5. THE ELEVATION HERE-IN SHOWS T—ANCHORS AT THE BASE OF THE $O: i}eﬁ PEIQ Lizd 8 = &
WALL ONLY. THESE ANCHORS MAY ALSO BE USED AT THE TOP OF A " P2 T 0507 = &
WALL IN LIEU OF THE WIND LOAD ANCHORS SHOWN PROVIDING THEY g?\,.l._ PGl Sioa £
ARE INSTALLED THE SAME AS SHOWN AT THE BASE. « s T o <
B, DOOR OPENINGS WIDER THAN THAT SHOWN ARE NOT PART OF THE e C
SCOPE OF THIS APPROVAL. IF WIDER DOOR OPENINGS ARE REQUIRED, N BTN T £
THEY SHALL BE EVALUATED & CERTIFIED UNDER SEPERATE JOB R e 04T
APPROVAL. _ S SHEET NO
2 o 12




CHECKED BY:
W.W.S.

FOR MAX. FOR MAX. FOfS Mé)é.E
D.LO., SEE D.LO., SEE 0.LO., , )
0.0, SizE —|~— D.L0. SiZE ———D.L0. SizE —{|-—— "3, ix/ 4 21,2
TABLE ON TABLE ON | TABLE ON :
SHEET 1 SHEET 1 SHEET 1
» n_‘_ »_—__ A1 A2 _‘__.._2 1 2:1
2172 -1'- 2 1/2 ) 2 1/2 ATYA /

Y RS OHE ¢ B13J:: &
AN - 7= & N (B
Y SYr FOR END ANCHOR INTERMEDIATE N, \[I¥

- C Ipo DETAILS, SEE CORRME | RN
= S5 SHEETS 4, 5 & 6 MEMBER - P
L X8 . :
' =0 Py e —
L L r A ]
= o 4 D /2 l(ﬁdé@u%ml
v cE 47A Y e rqvts)lguél_ﬁogom\%: "
. . >xX = :
% ) 4 P 7| 22, 7 |||| 'UNDER SEPARATE.} |
= | —. & [ APPROVAL. _ _ )
3 8 Z .<] OPPOSITE //EQO: |‘|\#= A
| n |
A2 ¥ Y /oy
il 7) % # :L==@ Ay
V4
A { ( & $ o $
1/2
LOAD  |—— LOAD WIDTH —=t—— LOAD WIDTH ——=— LOAD WIDTH—= LOAD [—
WIDTH WIDTH
MEMBER . DLoO. D.L.O. DOOR MEMBER
CENTERLINE CENTERLINE CENTERLINE CENTERLINE  CENTERLINE

EXTERIOR ELFVATION:

SINGLE—SPAN NON—REINFORCED CURTAIN WALL

SCALE: 1/4" = 1’0"

CURTAIN WALLS

1. THE ELEVATION SHOWN ILLUSTRATES SIDE.JAMB FRAME MEMBERS WITH .
FULL SPANS END SUPPORTED BY "F” OR "U” ANCHORS. [T IS OPTIONAL
TO OMIT THE "F" & "U” ANCHORS AND INSTALL THE SIDE JAMB
F—~PERIMITER ANCHOR SCREWS AS SHOWN IN THE REINFORCED WALL

ELEVATION ON SHEET 2.

2. THERE IS NO LIMIT TO THE NUMBER OF SECTIONS HORIZONTALLY
PROVIDING THE OPENING IS DESIGNED .-TO SUPPORT THE LOADS
TRANSFERED FROM THE WALL- SYSTEM. B )

3. THE SINGLE—SPAN ELEVATION SHOWN SHOWS ONE DOOR SECTION.
MULTIPLE DOOR SECTIONS MAY OCCUR SIDE—-BY SIDE IN ONE WALL

SYSTEM PROVIDING ALL REQUIREMENTS WITHIN THIS DRAWING ARE MET & .

PROPER 'LOAD WIDTH (DISTANCE BETWEEN DOOR CENTERS) IS CONSIDERED
WHEN DETERMINING ALLOWABLE DESIGN PRESSURE. -

4. ALTHOUGH A DOOR SECTION IS SHOWN AT A SIDE JAMB, THAT SECTION
MAY: EXIST WITH OR WITHOUT A DOOR & THE DOOR MAY EXIST IN ANY
BAY.

5. THE ELEVATION HERE—IN SHOWS T—ANCHORS AT THE BASE OF THE
WALL ONLY. THESE ANCHORS MAY ALSO BE USED AT THE TOP OF A
WALL IN LIEU OF THE WIND LOAD ANCHORS SHOWN PROVIDING THEY ARE
INSTALLED THE SAME AS SHOWN AT THE BASE.

6. DOOR OPENINGS WIDER THAN THAT SHOWN ARE NOT PART OF THE
SCOPE OF THIS APPROVAL IF WIDER DOOR OPENINGS ARE REQUIRED,
THEY SHALL BE EVALUATED & CERTIFIED UNDER SEPERATE JOB APPROVAL.
7. WHEN THERE IS NO CONTINUOUS JAMB SUPPORT, THE MINIMUM &
MAXIMUM ALLOWABLE SPACE BETWEEN JAMB FRAME MEMBERS & THE
OPENING SUBSTRATE OR FINISHES SHALL BE SPECIFIED BY THE ENGINEER
OR ARCHITECT OF RECORD FOR EACH JOB BUT SHALL NOT BE LESS THAN
1/2" NOR GREATER THAN 1.3/8". WHEN CONSIDERING TYPE, DEPTH &
JOINT SPAN OF SEALANT, THE ENGINEER/ARCHITECT SHALL TAKE INTO
CONSIDERATION 'THE DEFLECTION OF THE JAMB MEMBER THAT WOULD
OCCUR WHILE SUPPORTING THE JOB REQUIRED DESIGN WIND PRESSURE.
ALSO TO BE CONSIDERED SHALL BE THE MATERIALS & SURFACES TO
WHICH THE SEALANT WILL BE APPLIED. ‘

ALLOWABLE DESIGN PRESSURE
(SINGLE SPAN . REINFORCED . .

CURTAIN WALL)

DATE:
03/16/13

REVISION DESCRIPTION

NO.

1. SEE ELEVATION FOR DIMENSIONING OF LOAD WIDTH.

MAXIMUM - | MAXIMUM| _ ALLOWABLE
MULLION LOAD PRESSURE
SPAN WIDTH | (POS & NEG
(IN.) (IN.) PSF)
76 1/4 81.0
72 85.8
150 68 5/8 90.0
B2 996
56 110.0
76 1/4 B4.4
72 89.4
144 68 5/8 . 938
62 103.8
58 110.0
76 1/4 90.0
132 & LESS |72 95.3
68 5/8 100.0
62 110.0
NOTES:

2. PRESSURES SHOWN ARE SPECIFIC TO EACH
INDIVIDUAL MULLION SUPPORT AREA. ALLOWABLE

PRESSURE MAY VARY FROM BAY TO BAY AS DICTATED

BY EACH INDIVIDUAL MULLION CONDITION.”

3. LESSER OF PRESSURES STATED IN THIS TABLE &

THE ALLOWABLE GLASS PRESSURE, AS SHOWN ON

SHEET 1, SHALL CONTROL AS ALLOWABLE FOR THE

WALL ASSEMBLY.

4. AT SPAN OF 132" & LESS, LOAD WIDTH CONTROLS
THE ALLOWABLE PRESSURE. THEREFORE, IT SHALL
NOT BE ASSUMED THAT INTERPRETATION OF PRESSURE

VALUES CAN BE DONE WITH SPANS UNDER 132"
INTERPRETATION OF PRESSURE VALUES BETWEEN

THOSE SHOWN MAY APPLY.

JOB INFORMATION:

KAWNEER COMPANY, INC.

555 GUTHRIDGE COURT

NORCROSS, GA 30092
770-449-5555

113487

10 13/16” DEEP 1600 SYSTEM 1 CURTAIN WALL (L.M.L)

DRAWING TITLE
CONSULTANTS

33418

GINEERING &

7480 150TH COURT NORTH
PALM BEACH GARDENS, FL
PHONE: 561-744—3424

W. W. SCHAEFER EN
CONSULTING, P.A. (REG. NO. F—14980)

13

0
e

WARREN M. /SCHAEFER. P
E ﬁo . P.E.

}AR/

SR GSERTIEICATION

.. 113497

DRAWING NO. | R

179471

P

SHEET NO.

ofF 12




DRAWN BY:

CHECKED BY:
W.W.S. WW.S.

[EXTERIOR

~ BOTTOM OF SLoT 1/4"]/
FH STANDARD WIND LOAD ANCHOR

SCALE: 1/3 FULL

NOTE: ALL 1/2” BOLTS
CONNECTING ANGLES TO
MULLIONS SHALL BE GRADE
5 STEEL OR 300 SERIES
STAINLESS STEEL.

) SUPPORTING
1/2-13 X 4 1/2 /STEEL
HEX HEAD BOLT & : SUBSTRATE
FLAT WASHER m@\ BY OTHERS
] /‘ . .
G » E . ANWANN ~ AN
N
Nvg .
C
1/2-13 LOCK NUT
& FLAT WASHER
11/2" MIN. - |1 1/2" MN.
. ' 1/4111/37:
—A— , 11/2” 10
, ‘ [~ TOP OF SLOT
|
2 1/4"| __|_
I—— — 2
| Q b 174" /NN, 3
o] | S/ANEN 2
v/2h 0 = -9/16” X 3" SLOT IN ANGLE TO
; | ACCEPT BOLTS. SLOT POSITION
H | SHALL BE ALIGNED AND CENTERED
) VERTICALLY WITH BOLTS UPON
2.1/470 11 N INSTALLATION.
| | 4= L SUPPORTING STEEL
i SUBSTRATE BY OTHERS
“ 11/2° 70

| \——SUPPORTING STEEL
< SUBSTRATE. BY -
OTHERS

| — s

Yttt

SUPPORTING
STEEL SUBSTRATE

BY OTH ERS7

\
1/4],/MN. 3"

ALTERNATE WELD DETAIL FOR WIND LOAD
ANCHORS
SCALE: 1/3 FULL

PLOT:

DATE:
1=3 03/198/13

w
=
<
(=]
&
z
o
=
[
o
[$7
wn
w
[=)
2
o
[
¥
4
o
=z
O o
Zxrom
=53
kel
o}
<L) w0
~ Q. (5 <C )
- gﬂwoj
z -<
3| g4y
. Hoerx
- = O~
< | 285
= £§LDZ
z |
e
& IS
) Z
[}
- 18
2 ~~
L O
bl s5
ped <
[7p] OT
(@] ZLI_ [+ o]
o o g
O L -Ir?')
| 228"
a | & .25
Lt ZO =4
8| g g
5\/022’3
% g ES w1
WS 8x
A amd n wr
~ < 0. -—%2
ap] X -Om%
-~ O(_')g a
" Nz ~3
o v .= <
Ee e 0~
gD
O ) X7
z 2>
£ % ro)
é o O
(=) (&
L
o
>
z <
S i
= pa
< £
© 0o
[T nz
3 : \E“l
O o.
\L Eé\b
=
=
DRAWING NO. | REV.
SHEET NO.

4 o 12




DRAWN BY: CHECKED BY:

] _/—% .Iu o 6 1/2” ‘ |l 1n 11’ MIN. 4 1/2" 1,, MIN 3/4:1 MIN. —| 4 ']/2" | 3/4" W.W.S. WW.S.
‘ I| Il ” MIN. MIN. ' MIN. MIN [ 5es [ 51013
. : _ @ 12) ||5
A I W WI A %\;ﬂ/} @ T—ANCHOR 17 MIN. - T—ANCHOR ' L T—~ANGHOR
8 i B, T -©@- ©- 2 |
g NC ] | - | ' 5
, N ' 7'5/8" 5 5/8" 7 5/8" 3 /4 e | 75/8" 2 1/8" 3
. . [e)
I/T—ANCHOR l T MIN. | | 3
- SCREW/BOLT SUBSTRATE BY ' . | | g
“PER ELEVATION i OTHERS PER | @ , “©- _ > | :
| "ANCHOR | ., 1" MIN. , | . - - g
I REQUIREMENTS _t 1 { | B | 3/ | g
TABLE” V4 ; / M L e ]
| ~ 1/2” CONCRETE 4 1/2" MIN.  3/8" SCREW OR~ +——HllF —— . _/ #
B STANDARD T—ANCHOR SCREW PER | 7 EDGE’ DISTANCE BOLT PER "ANCHOR 1/4" SCREW ; ;
SCALE: 1/4 FULL "ANCHOR - OCRETE — REQUIREMENTS TABLE” : EXTERIOR SERBOLT : EXTERIOR S
| REQUIREMENTS s % SECTION "B—B” (INTO STEEL)  sychor SECTION "C-=C” 880
TABLE SECTION "A—A” (INTO_CONCRETE) SCALE: 1/4 FULL ~ REQUREMENTS  (ALTERNATE INTO STEEL Z._4
SCALE: 1/4 FULL _ | - - TABLE” SCALE: 1/4 FULL o] £854
_ 3 MIN SEE SECTION "E—E” FOR USE OF 2| 8473
T . - 388 WHEN AT A PERIMETER SIDE =1 584
0y 1| p0 » { | | 2| 595"
X 1" ‘ 1" . .. Lf)z
,_E H H E ) '@“ 388 T ) £ §§
=
I rGees) | &
| A 1/2" X 9 u-aNcHoR ) ) U—-ANGHOR o
14 ¥ ! MAX. —] 7 5/8 ‘ 55/8 7 5/8 55/8" 7 5/8" &
U—ANCHOR ) I _ =
b Tl il by g
1 d il o] %3
——— U—ANCHOR L 7 s
l N, m < Rj w o
SCREW/BOLT B — ol 2! =
I PER ELEVATION = Sl &,
- SUBSTRATE BY 1/2” CONCRETE—" ] finsg 6" MIN. ; - 6" MIN. 5/16” SCREW-" - 22673
/ OTHERS PER  SCREW PER "ANCHOR el [ epee ééﬁEWCOPNE%REFE“ .\L‘; w7 epop . OR BOLT PER p | 2,227
"ANCHOR REQUIREMENTS 3 DISTANCE » Ry DISTANCE "ANCHOR | ol 59 Eg3
REQUIREMENTS TABLE” ~  CONCRETE — ANCHOR | _—CONCRETE < REQUIREMENTS - = o1 x&881
DOOR JAMB U—ANCHOR TABLE’ ¢ eces~,  [BXTERIOR | O REQURBMENTS [ eooes—. [EXTERIOR | 0 mele’ EXTERIOR o | b<ES?
SCALE: 1/4 FULL o oL . N
SECTION "D-D SECTION "E-E SECTION "F—F” - 893:“
(INTO _CONCRETE AT (INTO CONCRETE AT (INTO STEEL) EQ |gxh ¢
<
INTERMEDIATE MEMBER) PERIMETER SIDE JAMB MEMBER) SCALE: 1/4 FULL 2 géé
SCALE: 1/4 FULL SCALE: 1/4 FULL , : 27§
o o
Sk HEIR e
AR S
A2 T o, |z i
Ao . 2t =] ]
ne % Ol W (IE £
7 SR ARV B P £
~c PG R L% e Og
Py e ih @ D =z = nS
’;“—A\%‘f:\ & Z"‘:Z‘;ﬁ E = ;
O, Wi 15 T 50| >
%L\)': vVoizi T Sigs|° \ £ s
BWYse. Dl oy =<
RN R =
{Mf PRS- ity DRAWING NO. |REV.
R SR, 1794T
SHEET NO.
5 or 12




DRAV‘VVNWEY CHECKED 8Y:
» " WS, W.W.S.
——)3) 3 1/2" MIN | nENGE . + —3/4 S
VT . : 1"
| F T  EDGE DISTANCE Jf\/ F_A@;R\_T | F_% .
. | fa
' I [ } ; .
! —— 3/4
c M JI G F—ANCHOR @ © @-— —@—'——— N
I A SCREW,/BOLT ; N
. N PER ELEVATION :
Cix 10 /@ 7 5/8" 5 5/8" 61/8" ' g
1] : — o
=L —j S = e /2" CONCRETE | / 75/8 i
T _ SCREW PER { : - - 3
"ANCHOR A o 1/4" SCREW I 0 g
SUBSTRATE BY - REQUIREMENTS . /ﬁ\ PER "ANCHOR N gl
gmgggRPER TABLE” . - ©@ REQUIREMENTS _ = -
: TABLE” — 2
; |
REQUIREMENTS 4 1/2° MIN. n .
TABLE EDGE = QZDDD—:g
‘l F—ANCHOR (FRAME MEMBER ENDS) NCUE DISTANCE e =38,
SCALE: 1/4 FULL L — [EXTERIOR] XEMmB
/ EDGES—, EXTERIOR j 0 A | £u_8
_ SECTION "H—H = g%oc')
r ~<
SECTION "G—G” (INTO STEEL) S| CEgY
. ~ [a e
(INTO CONCRETE) SCALE: 1/4 FULL o Hg%s
SCALE: 1/4 FULL | 29
= P4 § N =z
=z o
Z s
Z
g
gl o
= [ve]
79} ke
> <
21 g
S| E- 3
[7e) o.M
21 wo Rk,
ZZ 5 o
o I
Ll a3 Egy
| ‘ o | x&8E]
N
— Oy 2”2
" U)z !\é
E2 [Egh @
e 1273
s 3%z
Zz
£ | 8
WSSy uj
- :83 "& o
e > G: - o
PR ELE SN P e
o vt G2 2 52
"‘9?‘.‘ '$" O'\‘)‘)éﬁ < é'_
I T VG R g
we G P Lo 0z
f=i Bai®id fizs B >
M VAE - 5 . | 3
#;w%:% - o0:8¢ |o \Si
I AT RN &
é@“\)/‘;'_-. R 54 =
efi%(\;{v .... E % "Q Cj:f DRAWING NO. | REV.
W T 1794T
B onse= SHEET NO.
6 oF 12




DRA\:{N BY: CHECKED BY:
SUBSTRATE SUBSTRATE L L
BY OTHERS BY OTHERS 2w
SEALANT L SEALANT N g
BY BY : 1 |
OTHERS;\/{UI | 74 : OTHERs\%& / 4 _. | N
g - . . - a // // 25{ )
méyé / - / axs | z
EXTERIOR ~ ~ [EXTERIOR , P R - 2
/o o @ © S /o @ @ @ e
. \\ ' SPACE \\ : It / N\ SPACE - §
. > .—’ A\ Y By o
L |“N—SEE GLAZING \@ \_@ ‘ kSEE GLAZING \_@ - g
DETALS ON ' ' DETAILS ON
| SHEET 10 _ . SHEET 10 S o
A— ~ ‘ _ - A - _ o £33
SECTION | SECTION =831
(A1 . | | R . 3
SCALE: 1/2 FULL \ 7/ ' : ' SCALE: 1/2 FULL \ 7/ = g%ook
, v . = o 3
| \ \ ’ 1/2” MINIMUM TO 1 3/8” MAXIMUM = rx%@i
| |~=1/2" mAX. sPacE . | |-—1/2" MAX. SPACE (SEE NOTE NO. 7 ON SHEET 1) — b S| g3gR
. . J| 2.8
=, 382
<
= |z
e o
SUBSTRATE o F
BY OTHERS -8
2| ©
= [ve}
[9p] e
> <+
n -
STEEL OR 2
CONCRETE oL arin g &% g
SUBSTRATE BY SUBSTRATE BY @@\ | B EP,
9THERS PER OTHERS PER E o o . 2ES
ANCHOR "ANCHOR Ll %O Ew'vl‘
REQUIREMENTS REQUIREMENTS & & 8%
TABLE” TASLE" I F 5\/ ;g 7y
© Lo ¢ ESY
L and L = n LB
I l SIDE JAMB | <o -8z
i SIDE_JAMB 3/47 MIN | F—PERIMITER m | 5882
1 ‘]/2" F—~PERIMITER ’ ANCHOR b | U)Z né
MIN. ANCHOR SCREW ) SCREW PER E- x5 ©
PER ELEVATION ! \\ ELEVATION e |13
' T 11/2" (2 ROWS) : 273
SEE GLAZING SEE GLAZING ; SEE GLAZING g |3 ©
DETAILS ON DETAILS ON | DETAILS ON | I
SHEET 10 — SHEET 10 SHEET 10 0—-" o '.833 ’is‘ W
Q @) : - a,.ug-_‘: U o
| P | P » | P P R T -.‘QI}; o o5
— S — . S m— AL SRR |-
l) - \ i SN l) ‘ [y . I} \ — Vd N . © - . 7 L~
TR TR AN 7 g1 3 2158
F " ?gaéfgjﬁ‘:az T 5:07 |k =y
I TR [ o
g 7 Ll oy )
EXTERIOR | EXTERIOR | EXTERIOR by L :%\
DROUE ©’ &/ @ o/ & ® i LR :
SEALANT BY SEALANT BY SEALANT BY RN e _
SECTION /g  OTHERS SECTION /g  OTHERS SECTION g  OTHERS W iE T
SCALE. 1/2 FULL 2/ SCALE: 1/2 FULL \ 1/ SCALE: 1/2 FULL \7/ o SHeET o,
(SIDE JAMB F—ANCHOR TO STEEL AND CONCRETE) (SIDE JAMB F—ANCHOR TO WOOD OR METAL STUD) (NO SIDE JAMB F—ANCHOR) 7 oF 12




CHECKED BY:
WW.S,

DA

| J——1/27 max. SPacE

{RC -
N ,

DOOR i 1 1/2
UNDER
SEPARATE
APPROVAL

N
EXTERIOR

SCALE: 1/2 FULL \8/
(SIDE JAMB F—ANCHOR TO STEEL AND CONCRETE)

SEALANT BY
SECTION g\  OTHERS

STEEL OR
CONCRETE
SUBSTRATE BY
OTHERS PER
"ANCHOR
REQUIREMENTS
TABLE" .

SIDE "JAMB
F—PERIMITER
ANCHOR SCREW
PER ELEVATION

-~ DOOR
UNDER
SEPARATE

APPROVAL
7\—1

SCALE: 1/2 FULL \8/
(SIDE JAMB F—ANCHOR TO WOOD OR METAL STUD)

] |—1/2" Max. sPacE

METAL STUD
SUBSTRATE BY
OTHERS PER

- REQUIREMENTS

F—PERIMITER
- SCREW PER

SEALANT BY
SECTION g7\  OTHERS

1/2" MINIMUM TO 1 3/8" MAXIMUM
(SEE NOTE NO. 7 ON SHEET 1.)

\TE:
03/18/13

[

SUBSTRATE
BY OTHERS

. DOOR
UNDER
SEPARATE
APPROVAL

REVISION DESCRIPTION

NO.

KAWNEER COMPANY, INC.

JOB INFORMATION:

535 GUTHRIDGE COURT
770—-449-5555

NORCROSS, GA 30092

SECTON  /&3\

SCALE: 1/2 FULL \B8/
(NO SIDE JAMB -F—ANCHOR)

SEALANT BY

INEERING &
, P.A. (REG. NO. F—14980)

7480 150TH COURT NORTH
PALM BEACH GARDENS, FL 33418

10 13/16" DEEP 1600 SYSTEM 1 CURTAIN WALL (L.M.L)

CONSULTANTS
W. W. SCHAEFER ENG

DRAWING TITLE
CONSULTING

PHONE: 561-744—3424

13

CERTIFICATION

5

PE. NO. 113497

WAR;EN( W SCHAEFER, P.E.

DRAWING NO. [R

17941

2

SHEET NO.

ofF 12




CHECKED BY:
W.W.S.

1/4” MAX.
EE o

%
SEE GLAZING—|
DETAILS ON (39) (40
SHEET 10
— -
(55757
¢ 85/16* //
v WEEP HOLE @ g
T (ONLY REQUIRED LOCATED
, WITH REINFORCED 35/8 \
SYSTEM) FROM . : C
; , ENDS - X
/ & [ e 1
i = @
- SEALANT BYA H%"\SU_ _UU“E]H
XD~ OTHERS = -
EXTERIOR
DOOR UNDER DOOR UNDER - ,
- SEPARATE SEPARATE APPROVAL
@_\ APPROVAL ,
ZINNE
SEE GLAZING ; 4y SECTION @
DETALS ON N SCALE: 1/2 FULL \9
SHEET 10 A7) /
- iR
JF i
[REEER P .
EXTERIOR \_. v
(36) SEE GLAZING- & ®
SECTION /3 DETALS SN 1l /‘ /‘
SCALE: 1/2 FULL \8/ ® . - B
: '\ O] ~ ~
WEEP HOLE e
LOCATED
3 5/8” < »
FROM . r 1/4” MAX.
ENDS \\ //
SFALANT BY- ,
OTHERS 00
EXTERIOR
DOOR UNDER

SEPARATE APPROVAL

SECTION (BN
SCALE: 1/2 FULL \ 8/

DATE:
03/18/13

REVISION DESCRIPTION

NO.

KAWNEER COMPANY, INC.

JOB INFORMATION:

770—-449-5555

955 GUTHRIDGE COURT
NORCROSS, GA 30092

NGINEERING &

10 13/16" DEEP 1600 SYSTEM 1 CURTAIN WALL (L.M.1)

W. W. SCHAEFER E
CONSULTING, P.A. (REG. NO. F—14980)

DRAWING ™ TITLE
CONSULTANTS

7480 150TH COURT NORTH
PHONE: 561-744-3424

PALM BEACH GARDENS, FL 33418

ONAL o
ORI

]
i

§3
381

%, .

L

£ o
P—) 5
(=) L.
E o
S 5
. e ?2
o - NN
TS} é\_{ \40}

O

[24

&

=

DRAWING NO. |REV.

SHEET NO.

or 12




DRAWN BY: CHECKED BY:
WNWS. W.W.S.
. PLOT: DATE:
‘/\. \/\ 1=2 03/19/13
, 356] i; 7 | . 07 i—‘; ,// //
_ ‘ ool : ooops <X 8
EXTERIOR ~ ' - [EXTERIOR — - 2
e /@ © & @ by /6 © @ @ N
& Mo N | 7 G AT A N ) /o g
=Al S . Sesd | B % wije 5
0 ~ : . — | /& . j
' L SEE GLAZING. : S~ SEE GLAZING 00 o) @) S
| DETAILS ON DETAILS ON
THIS SHEET S : THIS SHEET Se o
SECTION ! SECTION xS7 8
(FD o (F2 : Zw 13
SCALE: 1/2 FULL \J0/ ' ‘ _ SCALE: 1/2 FULL \10/ o g_g_og'
' : - - =1 CE,Y
' . oo R EQ
. LB 2R
Cf% ) = %u’) em
_ TG | =
11 | | h ‘ N @ = g § L”r;’ g
EXTERIOR ® ~ [EXTERIOR D z
J T | ~ i
=4 Wi O i%
11}
3/4" MIN. BITE : 3/4” MIN. BITE - 1S
- I oL = ~
Ll o
CX) (30) b <
s 75} -
~ //(ONLY .QUI 26D DOW 995 OR 983 DOW 995 OR 983 - %i o
o 5
| WITH REINFORCED — A © | Ho R,
‘ ~ SYSTEM) | l._ SEE GIASS SEE GLASS ZZ E 3
- OPTIONS BELOW OPTIONS BELOW ol B
L W 2
TYPICAL MONOLITHIC GLAZING DETAIL . TYPICAL 1.G. GLAZING DETAIL =3 B
@\\ - GLASS OPTIONS: s | B =38
1 : GLASS OPTIONS: _ OPTION 6: 1 5/16” THICK I.G LAMINATED GLASS (1/4” HT. ST. OR < W Bz
S L OPTION 1: 5/8” THICK LAMINATED VIRACON HRG—2 GLASS (1/4” HT. TEMPERED EXTERIOR; 1,/2” AIR SPACE; 1/4” HT. ST./0.090” SOLUTIA ol B g5%
o ST./0.050” URETHANE,/0.080” POLYCARBONATE/0.050" URETHANE/1/4” HT. ST.) SAFLEX/1/4" HT. ST. INTERIOR) o [, 7273
7 7 | OPTION 2 9/16” THICK LAMINATED GLASS (1/4” HT. ST./0.100" SOLUTIA OPTION 7: 1 5/16” THICK 1.G LAMINATED GLASS (1/4” HT. ST. OR E= |25 ©
S . SAFLEX HP/1/4" HT. ST.) . TEMPERED EXTERIOR; 1,/2" AIR SPACE; 1/4” HT. ST./0.090" DUPONT N
| \ ] OPTION 3: 9/16” THICK LAMINATED GLASS (1/4" HT. ST./0.090” DUPONT BUTACITE PVB/1/4” HT. ST. INTERIOR) = 1275
J— \ ﬁg SG/1/4” HT. ST.) : OPTION 8: 1 5/16” THICK .G LAMINATED GLASS (1/4” HT. ST. OR s 18 ©
F —Fsr) = ] OPTION 4: 9/16” THICK LAMINATED GLASS (1/4” HT. ST./0.090” SOLUTIA ~ TEMPERED EXTERIOR; 1/2" AIR SPACE; 1/4” HT. ST./0.090" DURQNFw%%wy, o i
10~ \ 7 ]&—SEE czG  SAFLEX/1/4” HT. ST) S6/1/4" HT. ST. INTERIOR) | e S %
: ” GLASS ” HT. ST./0.090” g < |ub
EXTERIOR DETAILS ON %%ES_P\%}? /J,H'STK ?rh;lNATED GLASS (174" HT. ST./0.090" DUPONT . NOTE; EXTERIOR GLASS PANE OF 1.G. GLAZING BN o |3
SECTION D THIS SHEET R SHALL BE TEMPERED WHEN CURTAIN WALL g <=
. N GLASS IS INSTALLED IN A SMALL MISSILE £ 39
SCALE: 1/2 FULL IMPACT LOCATION OF A BUILDING OR WHEN = -y
GLASS IS REQUIRED TO BE SAFETY GLAZED. 2 20
. o
<;t\
[{]R%QG _Fo. REV.
4
SHEET NO.
10 or 12




@ ALTERNATE_HORIZONTAL FRAMING USED WITH I.G.

GLASS

o (—— 2.500 —
0.050
‘_

0.060 —

L

2.158

——2.270

6.625" WITH PARTS 2-& 4
1&3

(9) SHEAR BLOCK

7.625" WITH PARTS 1 &
0.125 —|
LENGTH 1S
CONTINUOUS.
0.155

U—ANCHOR

)

0.250 4 ——| 1125 |—

LENGTH = 7.750" @ F—PERIMITER_ANCHOR
USED ONOLITHIC
GLASS SYSTEMS

—{—0.125 —{=—0.125
"—’._ 0897 LENGTH = 7.625" | LENGTH = 7.625" 0-2501
||| 0.942
' 8.500 8.000 f
(12) T=ANCHOR (13) E=ANCHOR
-—1.750 j
[ 7%
g —0.345
% 0.092 -
0.125 — }—
2.458 A 0164 %O T
CONTINUOUS. :
V1
= @ HoRzo . 0.292 —|
HORIZONTAL_FRAMING
g (30) EXTERIOR GLAZING FIXED
7.438 ) @
' %”‘b‘%“\\u
g : \J
% = =5 A
T 4“0‘:\—‘\“{. "/Oga
F—PERIMITER ANCHOR PO %3 Rp )
USED WITH WITH LG, .3 Pt QY
GLASS” SYSTEM 25 5 a2
o gt dt Zz4
IR L w57
£FO5 Sk 9 ~
AR ~ il
"\))". * "/o".a*
7 ’ Bse, Lt K
W NPNEN M ‘:.';-—\.._:;."
\ 2 %%Q& #-,:.: ,,Q f_
% R
‘\\kau.“—

T @ DOOR_POCKET FILLER
PRESSURE PLATE COVER

CHECKED BY:
8.765 8.744 9.515 S
8.250 - I 8.229 ‘ 8.250 03/19/13
' 0.156 )
r 0.156 ' | r g
' %
0.250 =~ —~ j 0.156 — |— J 0.250 ——| l=—
2.500 ﬁ 2.500 2.500 |f_
. Iz
] _ ‘ » ! :
- , . . 3
ERTICAL AND HORIZONTAL FRAMING USED WITH LTERNATE_HORIZONTAL FRAMING USED WITH RTICAL' AND HORIZONTAL FRAMING USED Wi g
OEJQILI]]:!IC GLASS B THIC GLASS L.G._GLASS - : g
, o
2.500 | S
9.494 : }—— 2.500 —4 — 0.847 _f_ ]
T 0.156 0.8162 B 0.100 5‘8%8
~1 0.100 : , ~ £._18
! (6) PRESSURE PLATE (7) PRESSURE_PLATE £33,
@ PRESSURE PLATE , , o oE 43
0.156 —— |— E
2.500 : 584
- ] HBER
§ er) =
o~ 1

MULLION REINFORCEMENT

JOB INFORMATION:

NGINEERING &

”

10 13/16” DEEP 1600 SYSTEM 1 CURTAIN WALL (L.M.1)

CONSULTANTS

W. W. SCHAEFER E
CONSULTING, P.A. (REG. NO. F—-14980)

DRAWING TITLE

7480 150TH COURT NORTH
PALM BEACH GARDENS, FL 33418
PHONE: 561—744—3424

0 2013

o
£} £
WARREN ¥. SCHAEFER
U PE NO. 113497 E

CERTIFICATION

DRAWING NO. |R

17947

<

SHEET NO.

12




TEM # ITEM DESCRIPTION MANUFACTURER /NOTES ORAYN B:  [CHECKED B:
PARTS T
1 [VERTICAL AND HORIZONTAL FRAMING USED WITH 6063-T6 ALUMINUM
MONOLITHIC GLASS g
2 |ALTERNATE HORIZONTAL FRAMING USED WITH 6063—T6 ALUMINUM
MONOLITHIC GLASS ' %
3 |VERTICAL AND HORIZONTAL FRAMING USED 6063-T6 ALUMINUM
.~ |WITH 1.G. GLASS z
"4 |ALTERNATE HORIZONTAL FRAMING USED WITH 6063—T6 ALUMINUM 3
~_|1.G. GLASS ' 3
5 |PRESSURE PLATE 6063-T6 ALUMINUM S
6 |PRESSURE PLATE 6063-T6 ALUMINUM 2
7 |PRESSURE PLATE 6063-T6 ALUMINUM g
B |PRESSURE PLATE 6063-T6 ALUMINUM -
9 |SHEAR BLOCK 6063—T6 ALUMINUM z
10 |STANDARD PRESSURE PLATE COVER 6063-T6 ALUMINUM G e
11 |DOOR POCKET FILLER 6063-T6 ALUMINUM Zx2
12 |T-ANCHOR 6063—-T6 ALUMINUM £8m 83
13 |F—ANCHOR 6063-T6_ALUMINUM ] Bwe®
14 |U—ANCHOR 6063—T6 ALUMINUM 7| 32°¢2
15 |F—PERIMITER ANCHOR USED WITH MONOLITHIC 6063—T6 ALUMINUM 51 °xgy
| GLASS SYSTEMS | E38R
16 |F—PERIMITER ANCHOR USED WITH L.G. 1 6063—T6 ALUMINUM 2 %gﬁg'\
GLASS SYSTEMS = [, B2
17 |HORIZONTAL FRAMING FILLER 6063-T6 ALUMINUM z §
20 |MULLION REINFORCEMENT ASTM A—653/A—04A GRADE 50 EE
23 |5 X 3" X 3/8" X 6" LONG ANGLE 50 KSI STEEL 3 g
SEALS & SEALANTS .
28 |FIXED GASKET TREMCO TR4726P EPDM DUROMETER 70 +/-5 -
29 |THERMAL SEPERATOR TREMCO TR—4015P EPDM DUROMETER 60 +/-5 o S
30 |EXTERIOR GLAZING FIXED GASKET TREMCO TR—4014P EPDM DUROMETER 60 +/-5 0| K2
31 |5/16 X 7/16" GLAZING TAPE NORTON V2100 FOAM OR TREMCO 920 21 ev
32 |STEEL TO ALUMINUM SEPERATOR THERMO—TOK_TN—9004 gl -
FASTENERS 2| WgER,
36 [1/4" X 1" HWHTF TYPE "AB" SCREW 300 SERIES S.S. WITHIN 3" FROM ENDS & 9" MAX. 0.C. (300 SERIES S.S.) a | 2, 2%n
37 |1/4—20 X 2" FNTCS 300 SERIES S.S. WITHIN 9" FROM ENDS & 9" MAX. 0.C. (GR. 5 STEEL) w | Ly Egs
38A |NO. 8 X 1/2° FHIFS 300 SERIES S.S. 8 PER U—ANCHOR AT INTERMEDIATE MEMBERS (4 PER SIDE OF MEMBER) . | BT SEs
388 |NO. 8 X 1/2° FHIFS 300 SERIES S.S. 6 PER U—ANCHOR AT SIDE JAMB MEMBERS (AT 1 SIDE OF MEMBER) © b<Ezy
39 [NO. 12 X 1 1/2° FHIF TYPE "B’ SCREW 300 SERIES S.S. |2 PER SHEAR BLOCK (300 SERIES S.S.) > % a88
20 |NO. 12 X 7/16" PHIF TYPE "AB°_SCREW 300 SERIES S.S. |4 PER SHEAR BLOCK (430 SERIES S.S.) |~ g R
47 |[NO. 12 X 1" PHTF TYPE "AB” SCREW 300 SERIES S.S. 2 PER SHEAR BLOCK (300 SERIES S.S.) E2 g;g &
z
£ |g 8
RN Ry e E
gy, ~
=% 01"-..32\'3}% AN\ g2
LRGN Y £-
Al J R TT A ol S B
PATIREEE SRS I Bg
s 19t e 5 = \&y
ol egi®t Y Hizh |0 = B
m:@:;i;;z T 50 EN
0. VTR S =
eﬁg/‘g_‘. (} _;:Eé‘/’;:' DRAWING NO. | REV.
QE(&' '."‘..". = ',"‘(-‘\‘i-«;‘ 1794T
Lo ¥ o7 L~ SHEET NO.
Slnaoe™ 12 or 12




